NAIR Assistant Financial Advisor AFA

Topic:- AFA_NAIR25FEB

! Who is the sanctioning authority for any excess above 25% due
to change of scope

FIIET H STIRT IREaT & FROT 25% T 3110w Hr fFdr ofr sfaRea
fer & T A S FTel UISeRRT Sl g7

[Question ID = 1][Question Description = Q01_AFA_NAIR25FEB]

" DRM /8. 3. TH
[Option ID = 1]

.. SAG Officer / TH.T.ST. ¥HAT

[Option ID = 2]

> GM | AGTISH

[Option ID = 3]
+ Railway Board / {oia a1

[Option ID = 4]

- Railway Board / {oId a8

[Option ID = 4]

If the Assets of a business on 31St March 2023 are worth Rs.5,00,000
and its Capital is Rs.3,50,000, Then what shall be its Liabilities on 31st
March 2023

Ife 31 AT 2023 i oY sgaar T g 5,00,000 F93 3 3HRT i1
3,50,000 TII &, aF 31 AT 2023 T FHT SASTIIIT AT greir?

[Question ID = 2][Question Description = Q02_AFA_NAIR25FEB]
' Rs.8,50,000
[Option ID = 5]
> Rs.1,50,000
[Option ID = 6]
* Rs.3,50,000

[Option ID = 7]

+ Rs.5,00,000



[Option ID = 8]

Correct Answer :-

* Rs.1,50,000

[Option ID = 6]

¥ A Profit on the disposal of a fixed asset can also be described as an

fordt 3rrer gufy & e uv arey 59 w9 & ofr 3ot forar s gar
3

[Question ID = 3][Question Description = Q03_AFA_NAIR25FEB]

Over provision for depreciation on the asset / IREUT IT HedgrH &
fore 31feres grarere

[Option ID = 9]

Increase in Fixed Assets on the Balance Sheet / soiF 2fic U 3T
' ! ﬁ- = -
[Option ID = 10]

Under provision for depreciation on the asset / IREYR U< Hedgld co

3

TR ICHIG

[Option ID = 11]

+ None of these / 8 & #ig off AgT

[Option ID = 12]

Correct Answer :-

Over provision for depreciation on the asset / TREY™ 9T HedglH *

[ ]

forw 3179 wraen

[Option ID = 9]

) Original cost = Rs.1,26,000; Salvage value = Rs. 6,000. Useful life = 6
Years. Annual depreciation under Straight Line Method =

T Tt = 1,26,000 FYL; T4 Hod (TTea= de)= ¥. 6,000. FTIeTol/
T T = 6 I Wielt el TuTrely & 3ideTd I Hoder =

[Question ID = 4][Question Description = Q04_AFA_NAIR25FEB]

" Rs. 21,000
[Option ID = 13]

> Rs. 20,000

[Option ID = 14]



. Rs. 15,000
[Option ID = 15]

+ Rs. 14,000

[Option ID = 16]

Correct Answer :-

- Rs. 20,000

[Option ID = 14]

) Pay & allowances of Accounts Officers and Staff of office of P.F.A. are
booked to which Minor head and Sub head of Abstract A?

T U T. FTATeId & ol HTURIET 3T FAIRAT F adT AT AT IAT T
(TeFere U) F forw o oy 3f 37 o 3 gt o ST 2

[Question ID = 5][Question Description = Q05_AFA_NAIR25FEB]

200 ; 210
[Option D = 17]

* 100 ; 110
[Option ID - 18]

* 400 ; 410
[Option 1D = 19]

“+ 300 ; 310

[Option ID = 20]

Correct Answer :-

* 200; 210

[Option ID = 17]

6) p : : ;
Allocate recoupment of an Imprest bill received in Accounts office for
passing from executive

FTAFNT T IR FI F oI o@r HRTeT # Ued 3R6H 9 (SFEe
faer) & ufaqia smafed &3¢

[Question ID = 6][Question Description = Q06_AFA_NAIR25FEB]

Imprest Suspense head Debit ; Cheques & Bills Credit / 33ard/
- ZFUEC AR gE Bfae I ve R Ee

[Option ID = 21]



Imprest Suspense head Debit ; Relevant revenue head Credit /

" reTy) ERTE AT ¥ 2fve: wrETie TereT o e

[Option ID = 22]

3 Relevant revenue head Debit ; Imprest Suspense head Credit /
gra TR ToEa oY 2fee; e/ eFvee 9eid g8 #iec

[Option ID = 23]

Relevant revenue head Debit ; Cheques & Bills Credit / ST
- ToTET oS 2fae A% v Re e

[Option ID = 24]

Correct Answer :-

Relevant revenue head Debit ; Cheques & Bills Credit / STH
Teg oY 2fee; 9% va o &hfee

[Option ID = 24]

After drawl of completion report, project cost should be transferred by
CORE to Zonal Railway by means of

AT ROIE 3O &1 & 91, TRATSTAT o1eTd I II.377.37MT.E (C.0.R.E)
ZANT SAleTol YoId 3l hdl FEATARA [hdT SATAT 872

[Question ID = 7][Question Description = Q07_AFA_NAIR25FEB]

issue of a transfer certificate and preparation of JV/ TATATILOT YHTOTF
SR et 3 4T, T Jary|

[Option ID = 25]

Transfer Without Financial Adjustment / & FHAMESS & f&=T
FATATAROT

[Option ID = 26]
No such transfer is needed, as the project is executed by CORE

against budget provision / T8 frHT §FdTRUT &bl ATT2Tehdl Ael &, FAlToh
RIS & C.0.R.E GaRT FoI¢ WTTHTeT o dgd (shdlfead [T T &

[Option ID = 27]

. Asset Register / §ufe TTarEeT

[Option ID = 28]

w

N



Correct Answer :-

Transfer Without Financial Adjustment / o ga™@sr & &=
FATATAIOT

[Option ID = 26]

e

Y Applicable R.O.R. for projects chargeable to Capital under D.C.F.
technique is

1. HY. U & Teheileh & dgd , Gail I TR IRATSA13T & forw, @y

[Question ID = 8][Question Description = Q08_AFA_NAIR25FEB]

v 14%
[Option ID = 29]
2. 80/6
[Option ID = 30]
¥ 10%
[Option ID = 31]
“ 18%

[Option ID = 32]

Correct Answer :-
* 10%

[Option ID = 31]

Works required to safeguard the property or repair the damaged track
due to floods etc are done through

a1 1S & FROT HURT I GIE&T AT &ffdared ¢ HI AFAT F fow
HTETF FI FT FU AT E

[Question ID = 9][Question Description = Q09_AFA_NAIR25FEB]

. Calling for tender / [&Tagr 3mATRT FLaT
[Option ID = 33]

2. Urgency Certificate / caTaTehdl THTUT 93

[Option ID = 34]

;. Limited Tender / @f&a Rfaer



[Option ID = 35]
+ None of the these / 378 ¥ FIg off F&T

[Option ID = 36]

+ Urgency Certificate / 3caTadehdl THTUT 93

[Option ID = 34]

The cost of repairing the track damages due to floods, accidents is
charged to

a1, GEICAT % FRUT STAIET §U ¢ F AFAT F7 T foradd =1e o
ST 872

[Question ID = 10][Question Description = Q10_AFA_NAIR25FEB]

- Capital / G2

[Option ID = 37]

> DRF / 8r.37X.T.
[Option ID = 38]

. Revenue / AT
[Option ID = 39]

+ Safety Fund / §I&iT ffer

[Option ID = 40]

Correct Answer :-
* Revenue /| AT

[Option ID = 39]

11)

A balance of atleast how many days of leave on Average Pay should
be available to the credit in leave account of any employee at the time

of availing leave encashment

3TTRTL FAFATRIOT T ST 3oTa TAYT fordTr off FAT & FFr @I &
AT a7 W FA § FA fhd=t AT 1 et STAT gi=it =Jmigv|

[Question ID = 11][Question Description = Q11_AFA_NAIR25FEB]

1. 10




[Option ID = 41]

2. 50

[Option ID = 42]

3. 20

[Option ID = 43]
4+ 30

[Option ID = 44]

Correct Answer :-
* 30

[Option ID = 44]

12)

How much Transport allowance is paid during suspension period when
the suspension period covers a calendar month partially

fercraet 3rafer & e forder aRage o7 oferdreT fohram SATeT § 579 feeiae
3T Tk SFolsT ATE FT 3TTAF T F Fal FLaT &

[Question ID = 12][Question Description = Q12_AFA_NAIR25FEB]

. Will be paid full / YT $JeTcATeT foRAT SATTIM

[Option ID = 45]

Will be paid by proportionately reducing the same / manﬁa: T H
FH FTeh T [T STTaT

[Option ID = 46]

.. Will not at all be paid / fereepeT &[Tt g1 R ST

2.

[Option ID = 47]
+ None of these / 70 T g off 7T

[Option ID = 48]

Correct Answer :-

Will be paid by proportionately reducing the same / 3ﬂ?:I='QTﬁEF T H
FH ek AT ThaT ST

[Option ID = 46]

[ ]




" What is Non Issued ticket?

I IR femre (AT 527 feare) FaT 872

[Question ID = 13][Question Description = Q13_AFA_NAIR25FEB]

ticket which is not accounted in U.T.S./P.R.S. system / 3% feare e

1

e g & v /A AR T, F AT

[Option ID = 49]
A Journey ticket which passenger is surrendering for Non-performance
.. of his journey / Te ITHT Teare TS® ATAT AY=AT ITAT T I & HROT
FETH @R
[Option ID = 50]

ticket issued to the passenger but ticket is cancelled because of

. operator’s mistake / ATAT I feehe AR AT AT Sifehet 3HTOXET FT ITeTdr
3 HROT feehe Teg HT feam ara

[Option ID = 51]

+ None of these / T8 & Hig T AgT

[Option ID = 52]

ticket issued to the passenger but ticket is cancelled because of

- operator’s mistake / ATAT &I feahe AR foraT I Sferst 3T T ITerdT
% FRUT feshe Tgg X feam aram

[Option ID = 51]

Excess Fare Ticket (EFT) consists of how many foils.

yfafea fFoar e Eurd) & s wiea gia &7
[Question ID = 14][Question Description = Q14_AFA_NAIR25FEB]

. 2 Foils (Passenger & Record) / 2 Wigd (AT 3T =re)

[Option ID = 53]

.. 3 Foils (Accounts, Passenger & Record) / 3 Wigel (SI@T, AT 3-ﬁ'\"ﬁ'clfl"§)

[Option ID = 54]



_ 4 Foils (Accounts, Passenger, Invoice & Record) / 4 Whigel (SIT, ATAT,
Tt 3T Repie)

[Option ID = 55]

5 Foils (Accounts, Passenger, Invoice, Transit & Record) / 5 Higer
(g, T, =TT, UTETHE 3N FE)

[Option ID = 56]

4

Correct Answer :-

- 3 Foils (Accounts, Passenger & Record) / 3 Bigel (T, AT 3T NeFie)

[Option ID = 54]

15)
What is the maximum percentage of discount allowed in the Station To
Station(STS) scheme

EEU T TEUA (THEITH) TISAT H HAT P I ATUhdA lcrerd &=r
g2

[Question ID = 15][Question Description = Q15_AFA_NAIR25FEB]
- 25%
[Option ID = 57]
= 30%
[Option ID = 58]
* 20%
[Option ID = 59]
+ 19 %

[Option ID = 60]

Correct Answer :-
* 30%

[Option ID = 58]

""" Medical examination for commutation is not required if application for
commutation is received within following period

7fE Fegeere F forw smaee fee=fafaa safey F urea g 1 Fegee
& T Afgwa I T T TFar 787 §



[Question ID = 16][Question Description = Q16_AFA_NAIR25FEB]

within three years from the date of retirement / ﬁaﬁqﬁr $r
dRIE & e a9 & i)

[Option ID = 61]

within one year from the date of retirement / HaT{ed el shr
dR@ ¥ T ay & sfiax

[Option ID = 62]

within two years from the date of retirement / FaTfAg T T AE
T aray & fiaw

[Option ID = 63]

any time before or after retirement / GaTfaiq[d § Tgel AT d1G
- Faeraf

[Option ID = 64]

1

2.

Correct Answer :-

within one year from the date of retirement / HaT{ed el shr
drE@ ¥ T a¥ &F faw

[Option ID = 62]

What is the Standard rake size of BOXN wagons

BOXN ST=T T AT I 3T FAT 22

[Question ID = 17][Question Description = Q17_AFA_NAIR25FEB]
60 wagons / 60 31T

[Option ID = 65]

> 59 wagons / 59 d3TF

[Option ID = 66]

.. 58 wagons / 58 d3TeT

[Option ID = 67]

+ 42 wagons / 42 39T

[Option ID = 68]

Correct Answer :-

- 59 wagons / 59 33T

[Option ID = 66]



" Percentage of GST chargeable on AC classes in coaching .

FITIET H THT Ui T S19TeT ITel SATTHET ST T2l |

[Question ID = 18][Question Description = Q18_AFA_NAIR25FEB]

- 18%
[Option ID = 69]
= 12%
[Option ID = 70]
VA
[Option ID = 71]
< 0%

[Option ID = 72]

Correct Answer :-
* 5%

[Option ID = 71]

Wagon turn round means

HA A TIE FTATIAT &

[Question ID = 19][Question Description = Q19_AFA_NAIR25FEB]

Average Time taken for loading of wagons / S3TaT &T S8 &
oTeTe ATl AT H Y

1.

[Option ID = 73]

Average Time taken for unloading of wagons / a3 & HTel &I
" arer & o aren atwa §AT

[Option ID = 74]
Average Time taken for movement of wagons from Originating
.. to Destination Station / 3T TEAT T ITdeT T deh I3T=AT

T HTETATET F 9T arelt AT gHT

[Option ID = 75]



Average Time taken by the wagon from loading to its

« subsequent Loading / 39T aRT FIfSeT & 3He 37Tel Al deh
fora srar 3w ga T

[Option ID = 76]

Average Time taken by the wagon from loading to its

- subsequent Loading / S3Te aRT SI{S9T & 38 37Tel Al deh
foraT ara 3irea aa T

[Option ID = 76]

Y Station Balance Sheet prepared by each Station is also known as

Tedeh TEUA GaRT IR T ST JTell AT Soid 2 FT AT gl ATAT 872

[Question ID = 20][Question Description = Q20_AFA_NAIR25FEB]
. Commercial Balance Sheet / dTioTeds doiF 2fie
[Option ID = 77]

. Profit & Loss Account of Station / TE21 &7 &1 T §liel @TaT

[Option ID = 78]

.. Cash book of Station / T2 T UFg Fa@r

[Option ID = 79]

Personal Account of Station Master / TEAT HATEET T
S TFdeTa @raT

[Option ID = 80]

Correct Answer :-

Personal Account of Station Master / TE2AT HAETEI I
STTFgaTg @rar

[Option ID = 80]



) Closing balance of Accounts Office Balance Sheet represents

i) Carriage bills raised but not realised

ii) Carriage bills for which bills not raised

iii) Carriage bills raised and realised in current month

iv) Carriage bills raised in previous month realised in current month

AT FATAT doid 21T FT FATIT AT FAT AT &

) T & Toer IR T Afehed TH A8l fohT aTT

i) et e o fore foer sy 518 ferw atw

iii) =T ATE H HIA o Tl AN T 71T 3R a7 frT arw

iv) oo ag & Sl P T AT et Frager Ao A A g g §

[Question ID = 21][Question Description = Q21_AFA_NAIR25FEB]
o &
[Option ID = 81]
2] &iv
[Option ID = 82]
il & v
[Option ID = 83]
“ 0 & i
[Option ID = 84]

Correct Answer :-
0 &l

[Option ID = 81]

Difference between earnings as per Traffic Book and General Books
is called as

¢ftheh o 3N STl 9o & FHATE F e & AT FHF FAT Fel AT 8

[Question ID = 22][Question Description = Q22_AFA_NAIR25FEB]

.. Cash in Transit / 32 &= gIfAT

[Option ID = 85]



.. Traffic Suspense / ¢fther TTIH

[Option ID = 86]

. Double Accountal / SIgIT oI@T

[Option ID = 87]

+ None of these / A & Hig T AGT

[Option ID = 88]

Correct Answer :-

. Cash in Transit / 2T & gIfAT

[Option ID = 85]

23)
The suspense head Traffic Accounts always has balance and
represents earnings
TTIY g2 ¢fthep 31eh13e H gHe doig BT § 3T FHAE
FrufaAfScT Far g

[Question ID = 23][Question Description = Q23_AFA_NAIR25FEB]

" Credit; Gross / 8¢ ; Fel
[Option ID = 89]

. Credit; Unrealised / 3{2¢; & I 74T

[Option ID = 90]

.. Debit; Unrealised / 3fee; & ST 14T

[Option ID = 91]
Debit; Net / 2fae; Aic

[Option ID = 92]

>

Correct Answer :-

. Debit; Unrealised / fee; o I8 4T

[Option ID = 91]

In WMS Budget, ‘issues to Stores’ means

See UH.UH I<IC H, 'TIY I AR T (3 ¢ Fd) T 37 FATE

[Question ID = 24][Question Description = Q24_AFA_NAIR25FEB]



Material manufactured by workshop to be stocked in depot/

" R GERT T W 2t o weie R e &

Material returned by shop floor as it is excess / GTHIAT 31fe+
gl UX 2T Wil EFRT aT9H T &F 18
[Option ID = 94]

Material got from other depots in cases of shortage / FHT Fhr
feufa # 3= feur & wrea Fr 718 FrHah

[Option ID = 95]

- None of these / 78 § F15 &Y 16T

[Option ID = 96]

N

Correct Answer :-

Material manufactured by workshop to be stocked in depot/

| TS gERT T A B ROy F wete R e d

[Option ID = 93]

A report by an ISA detailing procedural irregularities in the
maintenance of stock is called as

|.S.A (3. 79.3) aRT Tk o TEETT H UlshaTcHs ATAATHIATHT T
fraTor 2= arelt RAIE &r a1 FgT AT 82
[Question ID = 25][Question Description = Q25_AFA_NAIR25FEB]

. Narrative report / JulaTcHSR (ALTed) Raie

[Option ID = 97]

.. Stock sheet / TaT efie

[Option ID = 98]

.. Stock Verification report / Teier FeamasT Ruic

[Option ID = 99]
+ Stock inspection report / T&ieh fAL&ToT N9TE

[Option ID = 100]

Correct Answer :-

- Narrative report / IUTHTCHSR (I eT) RO



[Option ID = 97]

Statement (A): TIAs should confine to verification of initial records at
stations and examination of the Accounts.

Statement (B): At times TIAs are responsible for compilation of
accounts, collection of cash and other allied works at stations.

FYUA (T): SISV I TEAT W TR AT Nebie F FoIma= 3T @rar & =
e & Tifaa Ear anfgu|
FYUA (d): FoiT Faity S3MST WIAT & Feholed, FRal F FIE 3T TAT W/
3 Haey It F v SFAer gia £

[Question ID = 26][Question Description = Q26_AFA_NAIR25FEB]

1. Statement (A) is Correct / ¥ (T) P'E?I' %’

[Option ID = 101]

.. Statement (B) is Correct / &= (3T) Tar &

[Option ID = 102]

.. Statements (A) & (B) are Correct / &9 (T) AT (1) e &

[Option ID = 103]

«. Statements (A) & (B) are not Correct / 2 (T) IR (EfT) 'H?I'F-Iﬁ%

[Option ID = 104]

Correct Answer :-

Statement (A) is Correct / U= (T) Tal g

[Option ID = 101]

) During the check, TIA should ensure that Parcels shown as delivered
but found 'on hand' are noted for recovery of-------

ST & G, S13MTET FT Tg YATEd LT =AMMgT foh Irée 1 faafid &
w7 & Te@rar 2 §, oo g1y & 9 aTam §, ST T & forT
Are rar =T =T

[Question ID = 27][Question Description = Q27_AFA_NAIR25FEB]

' Wharfage due / BTe3[eeh(ahT) &




[Option ID = 105]

> Demurrage due / &= %Am(gﬂi?) &g

[Option ID = 106]

.. Charges due / Qﬁ&'ﬂ

[Option ID = 107]

+ Cash due / A%E T

[Option ID = 108]

» Wharfage due / BTE[eh(TtHheT) &

[Option ID = 105]

In Railways Traffic costing which method of costing is followed ?

LTS AT AT feiyor & arerg Areior & wia d@f [_fEr srgae s
g7

[Question ID = 28][Question Description = Q28_AFA_NAIR25FEB]

.. Job costing / FT SIETA AURON(ST FHiteeT)

[Option ID = 109]
.. Batch costing / &= SITeTd (s shiTEeaT)

[Option ID = 110]

;. Progress costing / SRTTl ST (131 HITEeaT)
[Option ID = 111]
+ Operating costing / IRETIT ST (HTIYTET FITEEaT)

[Option ID = 112]

- Operating costing / IRETI STETA(TITET FHITEeT)

[Option ID = 112]

In case of booking of PTO Ticket is charged.

Rt RecHrgrar s Aamad ok o sar gl

[Question ID = 29][Question Description = Q29_AFA_NAIR25FEB]



1/3 rd of the Base Fare+ reservation Fees + Superfast Charge
Rounded off to next higher multiple of Rupee / 1/3 ATIT T AT

formaT + ETOT ok + GBS ok & F9T & 3T 3= JUTh H
quitfeRa foram STeam

[Option ID = 113]

1/3 rd of the Base Fare + superfast Charge Rounded off to next higher
multiple of Rupee /1/3 &7 & 98 R + FIBREE Yook & 39T &
37aTel 3= J[UTe A qUITTehd [T SATTaT

[Option ID = 114]

1/3 rd of the Base Fare Rounded off to next higher Rupee / 1/3 #°T &
- 3T TR 7 37Te) 3TUaR T9Y & quiifeRd famar s

[Option ID = 115]

1/3 rd of the Base Fare rounded off to next higher 5 Rupee / 1/3 STeT &
3T FoRTT=r T 379Tel 3Taa} 5 $9 Tk QUITTehd fohdT STTaTT

[Option ID = 116]

N

Correct Answer :-

1/3 rd of the Base Fare rounded off to next higher 5 Rupee / 1/3 STaT &
T RT3 3T 3797l 3Ta 5 $9 e QUITTehd fohaT STTeT

[Option ID = 116]

In case of re weighment of Randomly selected rakes (by PCCM in
consultation with PCOM) which underwent load adjustment, if found
any over load in it , what are the charges to be levied

Iefeos & ¥ 9dfed & (Fieed & WA & fdded gann) &
Ue: Io1e o ATH H, [S/a@# oie GAIST= fonam amam g, Ife g8d 3=
oTE ITAT SATAT €, AT AT 2ok 9T SATaaT |

[Question ID = 30][Question Description = Q30_AFA_NAIR25FEB]

Punitive Charge of one lakh rupees for Rake / ¥& &% foIT T& or@
T T GSTeHF Yok

1

[Option ID = 117]



Punitive Charge of Rs 5000 per wagon / T a97s7 5000 F93 &7

2.

ESTcH o

[Option ID = 118]

Punitive charge of one Lakh Rupees for each Wagon / ¥cdieh d31
& T T @ TI FT EECHF Yok

[Option ID = 119]

Punitive charge of Five lakh rupees for rake / ¥ & o o= s@
TIY T GEcHS Yoo

[Option ID = 120]

Correct Answer :-

Punitive charge of one Lakh Rupees for each Wagon / ¥icdies d31
o foIT Tk oIT@ T T SBTcAF Yook

[Option ID = 119]

What does CRAC stand for ?

C.RA.CH.IR.T.H) & Adds T 87
[Question ID = 31][Question Description = Q31_AFA_NAIR25FEB]
Consignee Receipt Acceptance Certificate / @S RETCe TFaTeH
giefhare
[Option ID = 121]
_ Consignee Rejected Acceptance Certificate / FaTS=T ReieFes THriweH
giefthere
[Option ID = 122]
Consignee Receipt Agreement Certificate / FaT8aT e 3#HT
giethare
[Option ID = 123]

.+ None of these / &8 ¥ &g T FgT

[Option ID = 124]

1.

3.

Correct Answer :-



Consignee Receipt Acceptance Certificate / @S RETCe TFaTeH
afefthehe

[Option ID = 121]

Debit balance in Purchase Suspense indicates

FI GEH(ITEE TEH) & 2fec av Fr gutar §

[Question ID = 32][Question Description = Q32_AFA_NAIR25FEB]

Material received but bills not paid /WW?WWH
ST T g3
[Option ID = 125]

_ Bills paid but material not received Arckadoriclikeicicr
HTHET AT el
[Option ID = 126]
> Both the options are correct / a1 f[deheT TEr &

[Option ID = 127]

+ Both the options are not correct / &=l [d&od Hel Tel &

[Option ID = 128]

1.

Correct Answer :-

Bills paid but material not received / &<l &T WB’TWF}W
HTHT AT [Helr

[Option ID = 126]

What is the power of Senior Section Officer (A) for signing of CO7s

CO7s T GEATER Hl= F oI IS T AFATAFNT (V) T Mo 2
g?

[Question ID = 33][Question Description = Q33_AFA_NAIR25FEB]

. Upto Rs.10 lakhs per case / ¥fd & 10 JT& 9 dh

[Option ID = 129]

.. UptoRs. 15 lakhs per case / 9fd &8 15 91 T94 deh

[Option ID = 130]



;. UptoRs. 25 lakhs per case / Ufd &F 25 o1& T9I o

[Option ID = 131]

s« UptoRs. 20 lakhs per case / 9fd &8 20 1@ 94 deh

[Option ID = 132]

Correct Answer :-

- UptoRs. 25 lakhs per case / 9 &8 25 oG T9I 5

[Option ID = 131]

Pay master’s cash book indicates

 ATEET & 2T T T 2Tl §7

[Question ID = 34][Question Description = Q34_AFA_NAIR25FEB]

Position of all bills issued for payment to cash office only / &der

1

oo FIATST Y ST 3 fore Sy e are el faralt o Rufyy

[Option ID = 133]

Payments done by cash office only / d&e FATHT CEIR Sr oY
AT {2 I gr

[Option ID = 134]

5. Position of cheques received only / 3ael WTed ekl i [&A T

[Option ID = 135]
Position of all bills received, cheques received, payments arranged

. & unpaid bills / gTea Tit faat Fr Fufa, urea =9, serareT $r m=f
3 ofeTaTe & S At farat o et

[Option ID = 136]

Correct Answer :-
Position of all bills received, cheques received, payments arranged

. & unpaid bills / uTea Tt faait Fr Fufa, area =, sperarT #r
3 speTaTer & S adt farat o feufa

[Option ID = 136]



35)
Remittance into bank suspense should always have balance

de IATE geda(RfAEH g 3F) g # gaem dolg gl TnfgT

[Question ID = 35][Question Description = Q35_AFA_NAIR25FEB]

- Credit / fee

[Option ID = 137]
2 Nil / 9T

[Option ID = 138]

5. Debit / 2fae

[Option ID = 139]

. Can be both credit or debit / e AT e AT Er FhaT &

[Option ID = 140]

Correct Answer :-

- Debit/ 2fse

[Option ID = 139]

The performance guarantee for the works contract has to be submitted
within how many days

I 37e7aer & o forsarest aTé(IwiA T TREY) forasr feat & oftax ST
AT gIef?

[Question ID = 36][Question Description = Q36_AFA_NAIR25FEB]

90 days from the date of issue of LOA / TeT.31T.T. ST &l ahl airg
¥ 90 fat & i’

[Option ID = 141]

60 days from the date of issue of LOA / TeT.311.T. ST &l ! ai@ &
60 f&=t & ofeR

[Option ID = 142]
3.

45 days from the date of issue of LOA / Tel.31.T. ST 8l s i@ & 45
&=t & sfiaw

2.



[Option ID = 143]

30 days from the date of issue of LOA / Tel.31.T. ST gleT hT ai@ & 30
et & sfraw
[Option ID = 144]

Correct Answer :-

60 days from the date of issue of LOA / TeT.31.T. ST &l ! ai@ &
60 f&=t & #ffeaR

[Option ID = 142]

For POH and other Repairs of Home Railway, budget to accept the
debits is asked under which Primary Units of Revenue Budget?

g Y19 1 O1.300.09 34T 3779 F3FAT & AT, 2fee TR a9 & T
ST TIEd Sofe il fond A g (M. ) & dgd AT AT 87

[Question ID = 37][Question Description = Q37_AFA_NAIR25FEB]

PU 34 (Wages) & PU 35 (Materials) / tﬁ'.q 34 (H?‘r{ﬁ') AR tﬁ,zl; 35

1

()
[Option ID = 145]

> PU33/91.g 33

[Option ID = 146]

PU 63 (Wages) & PU 64 (Materials) / 9.3 63 (F=igyl) X 9.9 64
(T

[Option ID = 147]

« PU99/drg 99

[Option ID = 148]

Correct Answer :-

. PU 34 (Wages) & PU 35 (Materials) / tﬁ'.q 34 (H?I'r.'{ﬁ') AR tﬁ,q 35
(|THe)

[Option ID = 145]



In case of SAFETY category items, the Vetting of NS Indent is not
required up to

LT AU T TEI3HT F ATHS &, TATH §5¢ F feohcdel Hod ook JALUETT
$T HTTTFAT T &

[Question ID = 38][Question Description = Q38_AFA_NAIR25FEB]

- Rs.5 Lakhs /5@ME& ¥
[Option ID = 149]

. Rs.156 Lakhs / 15 9@ ©

[Option ID = 150]
* Rs.10 Lakhs / 10 oM@ ®

[Option ID = 151]
+ Rs.2 Lakhs/2dTd ¥

[Option ID = 152]

* Rs.10 Lakhs /10 M@ ¥

[Option ID = 151]

39)

The system of costing contemplated by RITES which aims at arriving
at the Unit Repair Cost of POH activities is:

Tged &anT f9ar & 715 aerg it gumelr o 3eged diew
AT T ShTS ATFAT AT T IOTAT LT ¢

[Question ID = 39][Question Description = Q39_AFA_NAIR25FEB]

. Standard Costing System / ATIH(Te+8E) AT TUTTGIT

[Option ID = 153]

.. Incremental Costing / efrefeT(@h#ce) amerd
[Option ID = 154]

.. Revised Costing System / 2N T (RaEss) ST 9Tl

[Option ID = 155]

. Marginal Costing / SATd(ATSeTeT) ST

[Option ID = 156]



Correct Answer :-

- Revised Costing System / @2 fa(Raress) =TT WoTTelT

[Option ID = 155]

As per the latest guidelines of the Railway Board, the Finance Vetting
of Indent is dispensed with for:

Yo A8 & FAdera# fGenfardat & rgam, o Amer & g8¢ Fr fag s
I FATST F GATIATE
[Question ID = 40][Question Description = Q40_AFA_NAIR25FEB]
. Safety Category procurements / GI&TT SofT hr @iie
[Option ID = 157]
Materials Itemized in the sanctioned estimates with full
- specifications / quT fARISCAT3il & H1Y E&fihd HFAE H Fellecy
ATHAT

[Option ID = 158]

Materials procured under emergency certificates / 3TdTcehTollel
. YHATOTTET & T W TS WA

[Option ID = 159]
Materials to be procured from RDSO approved sources only /

. HTHAT S el JNSTHAT SIRT ATAIST Hial & & TG ST Fehell
J

[Option ID = 160]

Correct Answer :-

Materials Itemized in the sanctioned estimates with full
-+ specifications / quT fafarsedr3it & @ Tlepd IgAET A Heagy
T

[Option ID = 158]



The norms fixed by the Railway Board for the ratio of closing balance
to Gross Credit in WMS for Repair shops is:

FIFAT FTALATATE I SeegUATH H Fohol 8T & [ofT FATIT AT F
3T 3 TorT Yord &1g @Ry T ATeTes o fehv are §

[Question ID = 41][Question Description = Q41_AFA_NAIR25FEB]

" 12%
[Option ID = 161]
= 10%
[Option ID = 162]
3. 60/6
[Option ID = 163]
+ 3%

[Option ID = 164]

Correct Answer :-
- 3%

[Option ID = 164]

42)

Retro-fitment / Conversion of Rolling Stock to improve performance is
done through

NI TeTeF FF gaT 99T F T Y)-Rhede / Furaor ras Areaw O
T aar g

[Question ID = 42][Question Description = Q42_AFA_NAIR25FEB]

.. Rolling Stock Programme / TTel3T TE&ieh U

[Option ID = 165]
. Revenue POH / TS&T grafive

[Option ID = 166]

.. Special Work Orders / T321Y s 31¢er

[Option ID = 167]

s Divisional Work Orders / H#gel T3 39T

[Option ID = 168]

Correct Answer :-



- Rolling Stock Programme / ToleT Teih FRIHH

[Option ID = 165]

Works undertaken in Railway Workshops are chargeable to which
erstwhile Demand Nos.

YoTa Srremmen 3t # forw a1 it R qEadt AT dEar & e gl

[Question ID = 43][Question Description = Q43_AFA_NAIR25FEB]
03, 07,08
[Option ID = 169]
= 05, 06, 07
[Option ID = 170]
» 08, 09, 10
[Option ID = 171]

“+ 03, 04, 05

[Option ID = 172]

Correct Answer :-

* 05, 06, 07

[Option ID = 170]

Traffic Costing statements are prepared on the basis of:

¢Ther Aot favoT fore 3T 9T 9 e Sa §7

[Question ID = 44][Question Description = Q44_AFA_NAIR25FEB]

. Standard Costing method / #Teeh STeTd [HERUT(EE S FifeeT) e

[Option ID = 173]

Fully distributed Cost method/ I eE & faaRa(Fear Biegeges)
armeTe fafer

[Option ID = 174]

». Marginal Costing method / AT ST (ATl hiteeeT) fafer
[Option ID = 175]
+ Absorption Costing method / THTIT AT (e FTTeeeT) f&Ter

[Option ID = 176]

Correct Answer :-



Fully distributed Cost method/ i @ & faaia(Feer BiFgeacs)
omera fafer

[Option ID = 174]

45)

Which section of the Official Language Act relates to the constitution
of the committee of parliament on Official Language?

AT AT Fr ST I ar g9 T ga9e S af@fa & gieu=
¥ gara g?

[Question ID = 45][Question Description = Q45_AFA_NAIR25FEB]

1. Section-3 / 9T 3

[Option ID = 177]

2. Section-4 / 9T 4

[Option ID = 178]

3. Section-5 / 9T 5

[Option ID = 179]
+ Section-6 / 9TIT 6

[Option ID = 180]

Correct Answer :-

« Section-4 / 9T 4

[Option ID = 178]

46)

Who is responsible for ensuring that the documents under section 3(3)
of the Official Language Act be issued in both Hindi and English
languages/bilingually?

TSTHTST FTATHTH Fr a7 3(3) & I8 SEITaSr &l gar 3T 37305 =t
HTITHT/STIAT T H R HI=T foraehT TTFAenT g2
[Question ID = 46][Question Description = Q46_AFA_NAIR25FEB]

the person signing on the document / ¥drdsl U §EATER F= dToll
T

[Option ID = 181]

> Rajbhasha Officer / T=THTST 37ThTLT

1



[Option ID = 182]

> Head of the Office / TaTerd THE

[Option ID = 183]

+« Principal head of department / qg'@%amrrurﬁ

[Option ID = 184]

Correct Answer :-

the person signing on the document / ¥drdsl U §EATER e dTell
e

[Option ID = 181]

) According to Official Language Rule-12 whom does the responsibility
of proper compliance of the provisions of the Official Language Act and
the Rules made there under lie with?

TSN fATH-12 F 3TAR THA HfAfATa & = J°r 5865
I T T FATAT F FHRT quTer SRRy fhwdr 872

[Question ID = 47][Question Description = Q47_AFA_NAIR25FEB]

' Incharge of Rajbhasha section / TSATST HﬁﬂﬁT?WﬂTﬁ

[Option ID = 185]

». PHOD of Rajbhasha Deptt. / ITHTST faraTeT & oY T=r, HT.87.

[Option ID = 186]

;. Administrative Head of the office / FTaTAT & TATH AR Eﬂfl;@'

[Option ID = 187]

+ Rajbhasha Adhikari / TST#ITST 3T&HRT

[Option ID = 188]

Correct Answer :-

- Administrative Head of the office / FTaTIT & T2ATH = ‘;ﬂfl;ﬁr

[Option ID = 187]



v According to Official Language Rules, The classification of states and

union territories have been made into how many regions in terms of
the use of Hindi?

TSTATST AT & 38R fgear & waier &7 e ¥ Tl v Feg anfAd
TS2T & 8331 T 3 (RI0T Tehaey AT & TemaT 71T £72
[Question ID = 48][Question Description = Q48_AFA_NAIR25FEB]

" One /T
[Option ID = 189]

> Two / &
[Option ID = 190]

* Three / 9
[Option ID = 191]

+ Four /I

[Option ID = 192]

Correct Answer :-

* Three / i1

[Option ID = 191]

Who is the Chairman of the Railway Hindi Salahakar Samiti?

ToTa TEar OoTgsh UiATT & 3reTeT T §72

[Question ID = 49][Question Description = Q49_AFA_NAIR25FEB]

. Chairman, Railway Board / 37&T¢T, {oid 918

[Option ID = 193]

2. Member Personnel / G&ET FITHF

[Option ID = 194]
. Member Finance / §e&g Tag

[Option ID = 195]

+ Minister of Railways / {oT #3T

[Option ID = 196]

- Minister of Railways / {oT &3

[Option ID = 196]



50)

As per the rules what should be the order of precedence of the
languages to be displayed on the name board, designation board and
information board in non-Hindi speaking states?

foreraT & 3T I-FEET sl st A AT 1S, ugerH &re 3R gEer e
O ST T ST ATl ATSTHT T STATHFAT T FHH FAT gIT AT T?

[Question ID = 50][Question Description = Q50_AFA_NAIR25FEB]
Hindi language, English language, Regional language / T&&r &,
3TIISIT AT, AT ST
[Option ID = 197]
Regional language, Hindi language, English language / 81313 81T,
2. . .
fgar T, 37T TS
[Option ID = 198]
Regional language, English language, Hindi language / &1 ST,
3.
37T 99T, TEST TS T
[Option ID = 199]

English language, Regional language, Hindi language / 3731 ST,

[Option ID = 200]

1

Correct Answer :-
Regional language, Hindi language, English language / &3 8719,
[Option ID = 198]

51)

By which ministry is the annual program of Official language is
released

TSTSITST T AT FIAhA v HATTT SART ST T SATAT 72

[Question ID = 51][Question Description = Q51_AFA_NAIR25FEB]

. Railway Ministry / ¥oT #ITaTT

[Option ID = 201]

. Home Ministry / 3¢ HATerT



[Option ID = 202]
» Defence Ministry / T&T #ATelT
[Option ID = 203]

+ Finance Ministry / s #3mera

[Option ID = 204]

- Home Ministry / 3¢ HATeIT

[Option ID = 202]

What is the preliminary course of Hindi for Central Government
employees?

g ATRR F FaATREr & fore B 1 urf@s aeasa F=ar Ee

[Question ID = 52][Question Description = Q52_AFA_NAIR25FEB]

. Praveen / 9dToT
[Option ID = 205]

> Prabodh / Sr&Ter
[Option ID = 206]

> Pragya / 9=1T

[Option ID = 207]

.+ None of these / 78 § FIS AGl

[Option ID = 208]

Correct Answer :-

* Prabodh / w&Ter

[Option ID = 206]

How many times are the meetings of the Zonal Official Language
Implementation Committee held in a year?

ST T Fead AT T 955 T 95 H Tha=ir IR glar g2

[Question ID = 53][Question Description = Q53_AFA_NAIR25FEB]
- 05 times / 05 91X

[Option ID = 209]



2 02 times /02 91X
[Option ID = 210]

3 03 times / 03 91T

[Option ID = 211]

« 04 times / 04 X

[Option ID = 212]

Correct Answer :-

« 04 times / 04 91X

[Option ID = 212]

When is World Hindi Day celebrated?

TSeT TE<r Tgag &9 AT A1aT 872

[Question ID = 54][Question Description = Q54_AFA_NAIR25FEB]

14th September / 14 fTAdsT

-

[Option ID = 213]
> 8th March / 8 HT=I

[Option ID = 214]
. 26th January / 26 G

[Option ID = 215]

+ 10th January / 10 S=Talr

[Option ID = 216]

- 10th January / 10 Sa1Y

[Option ID = 216]

Major head 5002 under demand no 83 of Central government deals
with

el LRI ST AT HEAT 83 3 Al yH7@ A 5002 Frad Heiferd &

[Question ID = 55][Question Description = Q55_AFA_NAIR25FEB]
* Erstwhile demands 3-13 / q& #eT 3-13

[Option ID = 217]



> Erstwhile demand 16 / 9& #TT 16
[Option ID = 218]

> Erstwhile Demands 14 & 15 / 9 79T 14&15
[Option ID = 219]

+ Gross Budgetary Support / @ehel Sofeld Hgrddl

[Option ID = 220]

Correct Answer :-

* Erstwhile demand 16 / q& HieT 16

[Option ID = 218]

A decrease in the provision of doubtful debts would result in

TISTe KON F IS & FHT T FIT IO grE?

[Question ID = 56][Question Description = Q56_AFA_NAIR25FEB]

. an increase in liabilities / SFETRAT # &

[Option ID = 221]

. A decrease in working capital / STl Gt 7 FHAT

[Option ID = 222]

» A decrease in net profits / eI 18T 7 FHHAT

[Option ID = 223]

« An increase in net profits / s =TT H For

[Option ID = 224]

Correct Answer :-

+ An increase in net profits / Y T H I

[Option ID = 224]

If profit is 25% of the cost price then profit is equal to

ITE TS, AT FHoT T 25% § o oreT oress SRrew 72

[Question ID = 57][Question Description = Q57_AFA_NAIR25FEB]

1. 25% of the Sale price / ﬁﬁ'ﬂ?&' T 25%

[Option ID = 225]
© 33% of the Sale price / fashr HeT &7 33%

[Option ID = 226]



. 20% of the Sale price / Tash! Hed FT 20%

[Option ID = 227]

+ 15% of the Sale price / TorshT #eT FT 15%

[Option ID = 228]

Correct Answer :-

- 20% of the Sale price / TashT H&T T 20%

[Option ID = 227]

58)

Railway Production Units engaged in Rolling Stock manufacturing
activity will adopt which costing system

Ao Tere e afaffer F et T scuea sw=ar g aea
YUTTeIl &l 3Y=ATTIT

[Question ID = 58][Question Description = Q58_AFA_NAIR25FEB]

. Process Costing System / UTshaT ST (AT SHITEE3T) TOTToIl

[Option ID = 229]
> Batch Costing System / &% ST (8= &IT€a3T) JUTTIT

[Option ID = 230]

.. Job order Costing System / STI-3TE2l ARTA (TS HTET hITEET) JUTTIT

[Option ID = 231]

« Standard Costing System / #TTe RTA(FCES HITEEIT) TUTTOIT

[Option ID = 232]

Correct Answer :-

* Batch Costing System / 9= SIRTI (s &I 1EaT) eIl

[Option ID = 230]

What is the contribution made for NPS during suspension

ot & e vadivy & fore g e fgar e

[Question ID = 59][Question Description = Q59_AFA_NAIR25FEB]

. Same contribution as before suspension / felae & Ugol AT &1 72T

[Option ID = 233]

> No deduction during suspension / ea & ST H1s Heldr Ja6r

[Option ID = 234]



Half of contribution as compared to before suspension / feeiast & Uger
Y oA F 3T 37erET

[Option ID = 235]

+ None of these / &TH ¥ Fig T 7aT

[Option ID = 236]

- No deduction during suspension / T&eide & ST IS Heldr Jar

[Option ID = 234]

Which of the following Statement is true for NPS tier -ll contribution

TNy fEaR-l 3 F geu # AafRRa A sl arsaa ga ¢

[Question ID = 60][Question Description = Q60_AFA_NAIR25FEB]

Tier- Il contribution will be kept in a separate account that will be
withdrawable at the option of employee. Government will not make any

" contribution to it / T&IT- || 372AST T TF 3T TTad H T@T AT o T
FAINT F Fereq qT [T ST H3TT| IR SHH FI 37T FAeT &aiT

[Option ID = 237]

Tier- |l contribution will be kept in a separate account that will be non -
withdrawable. Government will not make any contribution to it / f&a3-

2

|| 3{2TETE Y T 37T WIS F TET ST o Femrerr AT ST §9heTT | TR
SHH FIS 32AST 6T &3
[Option ID = 238]

Tier- |l contribution will be kept in a separate account that will be
withdrawable at the option of employee. Government will also make

" contribution to it / fETT- 1 3720ETeT & T 39T W & T@T ST oy
FHANY & [dreq T AT ST Goherm| TR off ST e &3

[Option ID = 239]




Tier- Il contribution will be kept in a separate account that will be non -
withdrawable at the option of employee. Government will also make

. contribution to it / T&IT- || 372ASTH I Tk oI Wid H TQ&T JATTT o
FHAY F FreT uT fS Frrer g7 37 THem| FIFR A S8H 372re
&afr

[Option ID = 240]

Correct Answer :-

Tier- Il contribution will be kept in a separate account that will be
withdrawable at the option of employee. Government will not make any

" contribution to it / T€TT- || 37ASTT FT TH T TId H TE&T JATT o
FAINT F Ared I [FRTer ST o1 | TR STH FIS AT Aol gair

[Option ID = 237]

Loading/unloading facility for parcel lease holders of SLRs at
intermediate stations can only be allowed at such stations which are
mentioned by the lease holder in the tender form subject to having
stoppage time of train at that station not less than

HETTdT TEAAT I THUIT & UTHT oilel R & [oIT Sifar/3=aiieer
ST Gl sheel UH FAAT U &1 &l ST Hehell §, [STelehT 3ol oilsT U
ST fATaar I # fohaT 3137 €1 37 FCUAF U & o Tohel AT FHT

[Question ID = 61][Question Description = Q61_AFA_NAIR25FEB]

. 4 minute / 4 [A=E
[Option ID = 241]

2. 3 minute / 3 @«
[Option ID = 242]

. 5 minute / 5 @«

[Option ID = 243]

+ 15 minute / 15 f&ae

[Option ID = 244]

Correct Answer :-
- 5 minute / 5 fAde

[Option ID = 243]



* Arrange in order of work done in Traffic Costing

(i) Identify & allocate the expenses to services as it incurred
exclusively

(i) Segregation of expenses for different gauges
(ili) Exclude the expenses incurred on sub-urban services
(iv) Apportionment of joint expenses among services

TTATATT oTeTd A fFT T FT & FH H FY
(i) STTFraeTa Tar &1 AT I T 9g== 3T 3mafed &1
(ii) ToTSr==T AI=it & @ T gHFHIoT
(iii) 3T-2TELT WITHT UT Bley aTel @ T §eT &
(iv) HETHT & 1=l G I HT SCaN
[Question ID = 62][Question Description = Q62_AFA_NAIR25FEB]
o (iii), (1) (i) (iv)
2 (i), (_iii), (1), (iv)
> (iv), (i), (iii), (i)
« (1), (i_i), (iif), (iv)

[Option ID = 248]

* (i), (iii), (i), (iv)

[Option ID = 246]

Which statement is NOT TRUE about Fixed Cost?

STTa aeTg & IR & i T FUF G A61 272

[Question ID = 63][Question Description = Q63_AFA_NAIR25FEB]

The fixed cost always relate to a particular scale of capacity /

" YT e e ST ST R

[Option ID = 249]



It does not change with the change in the volume of traffic over a
.. period of time / T§ THT 3 WY ATATATT T AT & TR & YT

el oIl &

[Option ID = 250]

Fixed cost per unit varies inversely with the quantum of traffic / wfer

ghrs [ TRerd elreTd ATdraTd T AT & faudid FATIT §

[Option ID = 251]

This cost includes the expenses on fuel, lubricants, wages of

+ running staff / ST ST H S, TAg®, 19T TS & Jd=T T TT
AMATE

[Option ID = 252]

3.

Correct Answer :-
This cost includes the expenses on fuel, lubricants, wages of

. running staff / 9 ST & U=, TAgH, 9T TAH & IdeT FHT T
AMTAT &

[Option ID = 252]

What does first two digits in the works expenditure classification
indicates

T STT FaEHTOT 3 TUH B 375 FIT AT &2

[Question ID = 64][Question Description = Q64_AFA_NAIR25FEB]

. The source of financing / TSE9INUT T ATT(AH 3{TH HIEaH)
[Option ID = 253]

> The plan head / Tr=i=T NS (TelT= 82)
[Option ID = 254]

> The detailed head / fa¥da o (feees ¢2)
[Option ID = 255]

« The primary unit / 9TIf&e gerrg(Aeadr gfae)

[Option ID = 256]

Correct Answer :-

- The source of financing / TaT9ISOT T AF(IT 3HTH HEaH)

[Option ID = 253]



65) The earnings of Railways are classified under how many number of

alpha numerical digits

T T FATE FY oherer HTewT wgATeRer e 3 Aaeia Fefiere foram STrar
g?

[Question ID = 65][Question Description = Q65_AFA_NAIR25FEB]
1. 2
[Option ID = 257]
2. 3
[Option ID = 258]
3. 4
[Option ID = 259]
4. 5
[Option ID = 260]

Correct Answer :-
4

[Option ID = 259]

Annexure J to Appropriation Accounts indicates

TaferaeT @ (3MITTs HFT3e) &1 Heeleas of FT FATAT §

[Question ID = 66][Question Description = Q66_AFA_NAIR25FEB]
- Defects in Budgeting / =€ sl H @IHAAT

[Option ID = 261]
Statement of important Mis-classification and Mistakes in
2 Accounting / oI@iehe H Hgcaqul Aaid-aeieniur AR IFATaal
ferawoT
[Option ID = 262]

> Losses in Railway / ToTd & €TeT

[Option ID = 263]

* None of these / 95 & FIS gl

[Option ID = 264]

Correct Answer :-



Statement of important Mis-classification and Mistakes in
- Accounting / or@Thd ¥ HgcaqUl AaTd-geieniur T TaAfaar &
ICCE]

[Option ID = 262]

67)

Operating ratio is the best index available with Railways to compare
which of the following

ToTd o UTH 39clet [AF=olied & @ fordehl Jolar e & forv af=mer
3TTUT Ha (T FhIF &
[Question ID = 67][Question Description = Q67_AFA_NAIR25FEB]

To compare Performance of one Zonal Railway with other / TeR
ST Y & Ui T g@Y A ol A & o

[Option ID = 265]
To compare efficiency of one Zonal Railway in different periods /

" Rt yraftrtt F v e Yo 8 aarar A g Fe ¥ e

[Option ID = 266]

To compare Performance of one Division with other / Te f@dtai=r

3

| & v F gEY & o F & o

[Option ID = 267]

To compare efficiency of one Division in different periods / Tafeest

" yraftrat o ver ReoTe A garen Hr qer e & e

[Option ID = 268]

Correct Answer :-
To compare efficiency of one Zonal Railway in different periods /

fafereeT 3ot 7 U aT= Tord T G8TaT T ol his & forw

[Option ID = 266]

[ ]

The cost of labour welfare works is financed from ?

MR Foamor Frat Hr AeTg FT T IVOT FET F AT AT §2

[Question ID = 68][Question Description = Q68_AFA_NAIR25FEB]



. Development Fund -I / f&sra f&fer -l

[Option ID = 269]

Development Fund -1V / @&ra &fa-1v
[Option ID = 270]
. Development Fund -1 / T&erra -1
[Option ID = 271]

- Development Fund -| / fasrra A1

[Option ID = 272]

N

w

N

Correct Answer :-

- Development Fund -II / fasra fATer -1l

[Option ID = 269]

69)

Wagon Turn Round of the Railway for the month of Apr 2022, May
2022, June 2022 and July 2022 is 3.65, 4.73, 2.57 and 3.87. Of the
four months, Better performance is shown in the month of

30T 2022, AS 2022, ST 2022 3R oIS 2022 F T Lo F7 497 <o
3€ 3.65, 4.73, 2.57 3T 3.87 | IR Aelr & W, 5T Al & Jga<
vel fe@mar ar g

[Question ID = 69][Question Description = Q69_AFA_NAIR25FEB]

- April 2022 / 31%eT 2022

. ;Aay 2(])22 | 7g 2022

[Option ID = 274]

. June 2022 / 51 2022

[Option ID = 275]

« July 2022 / SeTTg 2022

[Option ID = 276]

Correct Answer :-

- June 2022 / 51 2022

[Option ID = 275]



The ratio of Working Expenses to Gross Earnings is Operating Ratio.
Working Expenses comprises of

el ST AT Fehol A T HUTd TR=To U §1 F I H
FT- FAT AT AT 82

[Question ID = 70][Question Description = Q70_AFA_NAIR25FEB]
excludes Suspense but includes Appropriation to DRF and Pension

- Fund / S8# GTUH ATTHT ARl & offehel SHA SINTH 3T 9o B H
forar arar AfEarae enfaer g

[Option ID = 277]

includes Suspense and Appropriation to DRF and Pension Fund / 85
- g 3R SRR 39T Yo e ¥ T R T R e

[Option ID = 278]

excludes Suspense and Appropriation to DRF and Pension Fund /

. EHH GEIH 3 ERMUE 3 Goe e F e e mar R anfde
el &

[Option ID = 279]

includes Suspense but excludes Appropriation to DRF and Pension

+ Fund / 8H &g A § e SRS 3T v g & e &Far
=T ST AT Fer g

[Option ID = 280]

w

Correct Answer :-

excludes Suspense but includes Appropriation to DRF and Pension
. Fund / 58 @0q A AgT ¢ ofeha S0H SI3RTE 3T Jor v &
ERIEIRIREIGEIEE R ERS

[Option ID = 277]

What is the Benchmark in Annual Performance Appraisal Report for
performance appraisal for promotion and financial upgradation under

M.A.C.Pis

TH.THLYT. & dgd Taletd 3R o 3e1aa & e fasurgsr gearea
& fore arfies fasurest Hearra Rale & S=r&am Fa1 872



[Question ID = 71][Question Description = Q71_AFA_NAIR25FEB]
. Average / 3\

[Option ID = 281]
2 (Good / H=3T

[Option ID = 282]

> Very good / ¥ d =T

[Option ID = 283]

+ Qutstanding / 3ch™C

[Option ID = 284]

Correct Answer :-

- Very good IEIEFI'&]'C-_‘E.’}TI'

[Option ID = 283]

The basis of calculating overtime in case of a running staff under
provision of H.O.E.R is

U323, & TTaUTH & dgd {491 TS o ATH H HIGIEISH I 0T
T AT T 872

[Question ID = 72][Question Description = Q72_AFA_NAIR25FEB]

. On weekly basis / GTcdTges HTUR WX

[Option ID = 285]

> On daily basis / fe¥er 3TN 91

[Option ID = 286]
> On two weekly basis / &I ETcaTlges ITUR 9T
[Option D = 287]
+ On monthly basis / ATFA® ATIR W

[Option ID = 288]

Correct Answer :-

* On two weekly basis / &l GTcdllgeh TR 9T

[Option ID = 287]



Maximum Leave on average pay that shall be granted at a time to a
railway servant is

T Yo FHAN 1 Tk FHT H T IdT I TUFaA fhaelr gedr &
STTIT?

[Question ID = 73][Question Description = Q73_AFA_NAIR25FEB]

. 90 days / 90 f&=T

[Option ID = 289]

> 150 days / 150 &=
[Option ID = 290]

.. 180days / 180 f&=T

[Option ID = 291]

. 360 days / 360 &=

[Option ID = 292]

- 180days / 180 f&=1

[Option ID = 291]

A serving railway servant on transfer from one post to another in a
different zone involving distance of 1500 Kms can be granted
joining time.

1500 frelt#TeT &1 &l aTer T 37T &89 H T Ug & gal 98 W
TATATAIOT UT Teh YA Yo HHANT Sl Sarsf=e gH T
fear ST AT B

[Question ID = 74][Question Description = Q74_AFA_NAIR25FEB]

. 10 days / 10 f&=1

[Option ID = 293]

2. 12 days / 12 &

[Option ID = 294]
. 15 days / 15 &

[Option ID = 295]

+ None of these / a8 ¥ Fig T A8T

[Option ID = 296]



Correct Answer :-

- 12 days / 12 &=

[Option ID = 294]

Admissibility of HRA in case of both husband and wife working in the
same station and live in a rented house and the rent receipt is issued
in the name of husband:

TR o i T A TF T EA W FH Fa g IR T F o
Ea £ 3T re & wiig ofad & amF ov JrdYy & S § ar vmaRe
TR T B2

[Question ID = 75][Question Description = Q75_AFA_NAIR25FEB]

HRA is admissible in favour of Husband only / TeI3{RT shael I &
geT H TSI §
[Option ID = 297]

HRA is admissible to any one of the spouse as per application /

" e ¥ R aRy/aeh F ¥ e ve # wesme w@he §

HRA is admissible to both husband and wife / Tr3RT gfa 3T T
aarF PTEwET g

[Option ID = 299]

No HRA will be granted in their favour of any one / TF8T & 98T &
IS THIT BT &aT ST

[Option ID = 300]

1.

Correct Answer :-

HRA is admissible to both husband and wife / TZr3RT gfa 3{T T
s PTEETE

[Option ID = 299]



While a Railway servant is on deputation in India, the Foreign Service
contribution paid by the borrowing organization comprises of

STafer T Tod FHEN AR # viaf=@gied . 8, 9fafegsd gu s
GAT et [T 31T ATl e BaT 2T (WRe HiaH FHliegegare)
H 7 AMTHT 872

[Question ID = 76][Question Description = Q76_AFA_NAIR25FEB]

.. Pension Contribution / 9«2l 372IET

[Option ID = 301]
> Leave salary contribution / 37/garrel adeT 372STT
[Option ID = 302]
Both Leave Salary contribution and Pension contribution / 31d<h12T
3.
adsT AR G2 gl & 372081
[Option ID = 303]

+ None of these / 78 ¥ Fig Y AgT

[Option ID = 304]

Correct Answer :-

Both Leave Salary contribution and Pension contribution / 31d<h12T
adeT 3R YU Il & 372G
[Option ID = 303]

77)

Which of the following is NOT correct in regards to Reimbursement of
Children education allowance:

sTar & e s 1 ufagfd & g9y & Aol # & Fi a1 g6y dar
g

[Question ID = 77][Question Description = Q77_AFA_NAIR25FEB]
Children education allowance for Divyang Children is payable at

.. double the normal rate / T&<ITeT =47 & ToIT T84T ST ATATFT ST H
SHTeT &Y W) fear ST §

[Option ID = 305]




Children education allowance can be claimed for two eldest

.. surviving children / 2 T8 J2 Sifad ITaT o TolT T8 &7 &7 g1ar
FaTarEsarg
[Option ID = 306]
Hostel Subsidy and Children Education Allowance can not be
.. claimed concurrently / T&col Aieqar 3T RIS o1 &7 graT Teh AT
e FaT ST EFar g

[Option ID = 307]

In case of retirement/removal from service reimbursement of
Children education allowance shall be admissible till the end of

academic year / QaTAG /AT H FTor & HTHe! H ST 37T
gfaqfd derforer av & i ds e gieft

[Option ID = 308]

4.

Correct Answer :-

Hostel Subsidy and Children Education Allowance can not be
. claimed concurrently / gl&ce Hiewar 3T TAEIT 877 T graT T TTYT
T fFaT ST EFar g

[Option ID = 307]

Under NPS a unique Permanent Retirement Account No. (PRAN) is
generated and maintained by

TAYITE & ded U fafase Tt darfagfid @rar §&r (W3imee)
foraer garT Giora 3T a1 ST 87
[Question ID = 78][Question Description = Q78_AFA_NAIR25FEB]

Central Record keeping Agency (CRA) / dge e Hifder vaidr
- (#fr3mo)

[Option ID = 309]

National Securities Depository Limited (NSDL) / 2o [aFaIREr=T
- feuiferedl ffies (e dree)

[Option ID = 310]



Pension Fund Regulatory & Development Authority / Ul BE
Fgoredl U3 fEaerdsie e
[Option ID = 311]

+ Concerned Ministry / GafSd HIToIT

[Option ID = 312]

Railway employees can avail AILTC facilities once in a block of how
many years on surrender of privilege passes of the calendar year

Lo FHANT FoisT Iy & FANTEFR gra(®fEesr ud) & A9 o3
forcret ISt & seller 3 Ueh A UTSTIEIHT Gt 1 a1y 3T Hehc! & |

[Question ID = 79][Question Description = Q79_AFA_NAIR25FEB]

. 4 years /4 IY

[Option ID = 313]
> 3years/3 Iy

[Option ID = 314]

.. 2 years /2 9
[Option ID = 315]

« Every year / gU "ol

[Option ID = 316]

Correct Answer :-

- 4years/49Y

[Option ID = 313]

The currency of Umbrella projects is valid for

3FST TNATSTATHT BT F7gT % foo du g

[Question ID = 80][Question Description = Q80_AFA_NAIR25FEB]

. 2years/ 29T

[Option ID = 317]
2 3 years / 3 HIoT

[Option ID = 318]

». There is no such limit / ¥ g AT F8r &



[Option ID = 319]
+ b5 years /S ®lel

[Option ID = 320]

Correct Answer :-
- 2years/ 2 ¥l

[Option ID = 317]

What is the minimum service required for giving Superannuation
Pension

YaTAgT G2 &1 & [T 3maedes ~adH Tar F4r §?

[Question ID = 81][Question Description = Q81_AFA_NAIR25FEB]

10 year qualifying Service / 10 "TeT ST T=AAT TaT
[Option ID = 321]

2. 15 year qualifying Service / 15 TTel ahl JTAT HaT
[Option ID = 322]

.. 20 year qualifying Service / 20 HToT T JTIdr AT
[Option ID = 323]

+ None of these / H ¥ FIg FgT

[Option ID = 324]

- 10 year qualifying Service / 10 |TeT T TeTdT FaT

[Option ID = 321]

DCRG is payable on minimum qualifying Service of how many years

SRS foRcrey auit T SeTde 376 Va7 W Gar T g

[Question ID = 82][Question Description = Q82_AFA_NAIR25FEB]
- 10 years / 10 9§

[Option ID = 325]

= 20 years /20 Iy
[Option ID = 326]

» Syears/d Y
[Option ID = 327]

+ 15 years / 15 a9

[Option ID = 328]



Correct Answer :-

. 5years/5'cl"§r

[Option ID = 327]

" Debits raised but not accepted is a part of

2fSe grar T fera Tt agt forar o2, a8 fraer Bear g

[Question ID = 83][Question Description = Q83_AFA_NAIR25FEB]

. Quitturn statement Part | / 3TT3¢cer EecCHT AT |

[Option ID = 329]

.. Qutturn statement Part | & Part || / 3T3ece FecHE AT | 3T AT 1|

[Option ID = 330]

5. Qutturn statement Part |l / 3733 FECHT AT |

[Option ID = 331]
+ None of the above / 78 ¥ &1 sff 7T

[Option ID = 332]

Correct Answer :-

- Qutturn statement Part |l / 3T3¢ce FeTHT AT ||

[Option ID = 331]

Compensation paid to a worker under Workmens Compensation Act is
treated as

FHSR TG FUATA(TF AT FFUeae Vae) & ded [ar
SFHEAY ST AT IAT HIATISAT AT AT ST 82

[Question ID = 84][Question Description = Q84_AFA_NAIR25FEB]

. Shop on Cost / 2T 3HTHABIES
[Option ID = 333]

> Proforma on cost / STHRTAT HTeRIES
[Option ID = 334]

> General on Cost /| GTHTET HTAhIEe

[Option ID = 335]
+ None of these / 8 ¥ His & 8T

[Option ID = 336]

Correct Answer :-



* Proforma on cost / NHTAT ATHRITE

[Option ID = 334]

85)
On Cost Charges are distributed among various jobs at the pre
determined rates on

37T FiTe TS H AT Frt F &g g7 FUTRE 2 )W FE smr W
aRa AT smarg

[Question ID = 85][Question Description = Q85_AFA_NAIR25FEB]

- Indirect Labour Charges / 3TUcdaT 1H Aok

[Option ID = 337]

> Direct Labour Charges / Tcg&T 41 ok

[Option ID = 338]

. Total Labour Charges /iﬁﬂﬂ'%ﬁ

[Option ID = 339]
+ None of these / 8T8 ¥ IS &i 7TgT

[Option ID = 340]

Correct Answer :-

- Direct Labour Charges / IcT&T 418 eh

[Option ID = 338]

As per GCC 2022, Base month for PVC — Price Variation Clause shall be
taken as

ST 2022 & HHR, Gl - Hod @Bieaar @s & v 3 A &
_ forar seem

[Question ID = 86][Question Description = Q86_AFA_NAIR25FEB]
1.

Month 28 days prior to the opening of Tender including extensions, if any /

fifaer got & 28 T Tgel &1 A, 38 TFHCUe off A §, Ifs F
gr

[Option ID = 341]
2.



Month 28 days prior to the opening of Tender excluding extensions if any /

afE F15 TaEce g o 30 ey, Wi gow @ 28 & uger &1 Fgen

[Option ID = 342]
3.

Month 14 days prior to the opening of Tender including extensions, if any /
fafaer goa & 14 e el 1 7L, g0 vHHiAS o AfA g, S Fle
Jl
[Option ID = 343]

s+ one month prior to closing of tender / [@Tagr d¢ g9 & T HglT Ugol

[Option ID = 344]

Correct Answer :-

. one month prior to closing of tender / ATAar d¢ g5 & T HIAT Ugol

[Option ID = 344]

What is the full form of GAAP

Sfro.T T, &7 quT ®9 91 87?

[Question ID = 87][Question Description = Q87_AFA_NAIR25FEB]

Government Approved and Authorised Procedures / MaTHe AYcs Ug
3TARTSsE THTH
[Option ID = 345]

Government Audit and Accounting Protocol / 3lasidie 3difee 38
HFT3TET Uethler
[Option ID = 346]
Generally Accepted Accounting Principles / SFell TFHTES 3ThT3[ecdT
ICIGERR]
[Option ID = 347]
General Agreement for Assessment Period / Se{dl 3REHE BIX
EHe fiTE

[Option ID = 348]

3

Correct Answer :-



Generally Accepted Accounting Principles / S=1Toll TFHTEE 3TehI3weaT
aTew
[Option ID = 347]

88)

What is upper limit for levy of Liquidated Damage (LD) in Stores
contract?

T e H TolFasds SHST (ToTe)) ol T SOl HIAT FAT 872

[Question ID = 88][Question Description = Q88_AFA_NAIR25FEB]
- 2%
[Option ID = 349]
2 1%
[Option ID = 350]
» 10%
[Option ID = 351]
“~ 5%
[Option ID = 352]

Correct Answer :-
* 10%

[Option ID = 351]

*" Power to close items under Part-l of the Railway Board Inspection
Report of Stores Accounts of a zonal railway lies with:

ol TS F TR TTar &7 Toa a2 He7or ROE & 891- | & Jgd A
I ¢ FIA FHT AT ... B g

[Question ID = 89][Question Description = Q89_AFA_NAIR25FEB]

. GM / AGTHEh

[Option ID = 353]

. PFA | eI7eT o Tegeh

[Option ID = 354]

.. Dy.FA&CAOQ / 39 faF Helgh & HET oI i

[Option ID = 355]



+ FA&CAO/General / o TghR & HTT ol TN / AATE

[Option ID = 356]

Correct Answer :-

- PFA | werreT o §egeR

[Option ID = 354]

Direct Acceptance of tenders means

ferfaanait Fr diefr Fpiar w1 Aaee F=rg?

[Question ID = 90][Question Description = Q90_AFA_NAIR25FEB]

Stores Officer can place order on the firm without tender / T&IT 37781

1

BTt R GH A AET I e

[Option ID = 357]

Stores Officer can place order on the firm without tender Committee /

- ER AN S AR R F A A AU S FRar g

[Option ID = 358]

Stores Officer can place order on the firm on quotation basis / TIX

| RIS U B T ST S AT

[Option ID = 359]

Stores Officer can place order on the firm with Finance concurrence /
TR AR o T geAfa ¥ &7 T AR S Fhar e

[Option ID = 360]

2

Correct Answer :-

Stores Officer can place order on the firm without tender Committee /

| TR AT e AR e F e S S gRaT

[Option ID = 358]



With regard to Option clause in Railway Stores contracts which of the
following statement is correct

Told TSR el # faereT @ (3T Follen) & HaU A fefai@d # &
FATTFITTET &

[Question ID = 91][Question Description = Q91_AFA_NAIR25FEB]

. Railway can enforce this quantity / {edl €8 HTHT &I o113 T Hehell &

[Option ID = 361]

Supplier can request this additional quantity / mqj%‘a»—cl‘r S AfaFd
T T AN FT Fh

[Option ID = 362]

Railway has to take supplier's consent / ¥oTa I 3qfdehdr T TeHT
CLIRIE

[Option ID = 363]

A separate negotiation has to be done for this Quantity / & HT3T & [T
AT § FraT(@Fanfaves) FT= el

[Option ID = 364]

Correct Answer :-

- Railway can enforce this quantity / oI §8 HTAT 3T SITe] T Hehel &

[Option ID = 361]

Purchase preference to MSE tenderers who have MSME certification
is

TATHUAS YA U UH TH ¢ AfEeRT & &7 A o
EIGHGES

[Question ID = 92][Question Description = Q92_AFA_NAIR25FEB]
. 20 %
[Option ID = 365]

2 25 %

[Option ID = 366]



» 30 %

[Option ID = 367]
+ 50 %

[Option ID = 368]

Correct Answer :-
* 25 %

[Option ID = 366]

) Substantially Completed Work means

TITTT ®T H qOT R I (HeHe AT Fralles) F F HY FATR
[Question ID = 93][Question Description = Q93_AFA_NAIR25FEB]
an ongoing work in which payment equal to or more than 90% of the
present contract value has been made to the contractor / Tek =Te[

| F R SHER F TEAE ARy qoT F 90% F ST A S
TR T aTdTeT [T 71T §

[Option ID = 369]

a completed work in which payment equal to or more than 90% of the
present contract value has been made to the contractor / Teh C[Ui'

Lmﬁmﬁwaﬁaﬁmﬂ'aﬂéﬂﬁeﬂ*QO%*WﬂTm
37T T ST foham a3 §

[Option ID = 370]

an ongoing work in which payment equal to or more than 95% of the

present contract value has been made to the contractor / Teh HTe]
- F S SR FT TIA S e F 95% F T AT 38
TR T AT fohdT 31T &

[Option ID = 371]

a completed work in which payment equal to or more than 95% of the
present contract value has been made to the contractor / Teh T-LU’r

- F fEd SHR FF TAAS AT oI F 95% F aUeY AT IHA
T T ATl [T a1am &

[Option ID = 372]



Correct Answer :-

an ongoing work in which payment equal to or more than 90% of the
present contract value has been made to the contractor / Teh =Te[,

| O SHER B a9AH ST Hod & 90% & & AT 3HH
31ferer &1 feTdTe foham I §

[Option ID = 369]

The PU For Charging Cost of Electrical Energy is

fega =1t &1 e aqee & P fg Fiaarg

[Question ID = 94][Question Description = Q94_AFA_NAIR25FEB]

+ PU 30/9rg 30

[Option ID = 373]

. PU 32 /9.y 32

[Option ID = 374]

. PU 28 /41.g 28

[Option ID = 375]

« PU10/91.g10

[Option ID = 376]

- PU30/d1.g 30

[Option ID = 373]

Plan Head 31 is used for booking Expenditure of

rstert o 31 &7 39T foFw e & gkt & fow R srar €

[Question ID = 95][Question Description = Q95_AFA_NAIR25FEB]

- Bridge works / Jel T &hId

[Option ID = 377]

.. S&T works / TH TE &I & FH1H

[Option ID = 378]
. Track Renewal works / & FTdT=iIehq0T 1

[Option ID = 379]



+ Level crossing works / oIgel ShITH9T T

[Option ID = 380]

Correct Answer :-

- Track Renewal works / && sTdIeilehq0T &1

[Option ID = 379]

Recovery of liquidated damage(L.D.) shall be levied

AST STTCI(TST.EY) T THEIT Tohd & H I SATT=AT?

[Question ID = 96][Question Description = Q96_AFA_NAIR25FEB]
at the rate of 1% of the price of the store per week and maximum 5%

" ufa geaTE R B HET 1% 3T wEaw 5% frew d

[Option ID = 381]

at the rate of 2% of the price of the store per week and maximum 10%

| ufa goarg TR & H1HET T 2% AT 3R aH 10% Hrexq

[Option ID = 382]

at the rate of 1/2% of the price of the store per week and maximum

' 10% / 9T TTATE TSR &7 FIET FT 1/2% 3R 310Fa7 10% Hrag

[Option ID = 383]

at the rate of 2% of the price of the store per month and maximum 5%

" ufey AT TR R FrET FT 2% 3T 3fEwawT 5% Frew

[Option ID = 384]

2

3

Correct Answer :-

at the rate of 1/2% of the price of the store per week and maximum

10% / 9T TodIg T2 T hIAd T 1/2% AT ATHdH 10% FreI T

[Option ID = 383]

The monetary limit of Direct Acceptance & without tender committee in
E-Tendering is

§-aRtaT 3 veer TG TS R $u a1 At e w2

[Question ID = 97][Question Description = Q97_AFA_NAIR25FEB]



. Rs.20 Lakhs / 20 oTE@ ¥

[Option ID = 385]

- Rs.1 Crores / 1 ER"I'E}'S

N

[Option ID = 386]

- Rs.50 Lakhs / 50 elT@ ®

w

[Option ID = 387]

- Rs.10 Lakhs /10 M@ ¥

N

[Option ID = 388]

Correct Answer :-

- Rs.50 Lakhs / 30 &IT@ ©

[Option ID = 387]

98)

As per GCC 2022, PVC is applicable for tenders costing more than

ST 2022 % eTAR, HETHT ... & e Smerd arelr A feersir ¥ amef
T

[Question ID = 98][Question Description = Q98_AFA_NAIR25FEB]

. 5crores / 5 g

[Option ID = 389]

2. 10 crores / 10 FUE

[Option ID = 390]

s 15 crores / 15 S

[Option ID = 391]

+ 2 crores / 2 U

[Option ID = 392]

Correct Answer :-

. 2 crores / 2 FUE

[Option ID = 392]



Micro and Small Enterprises shall be allowed to supply a portion of
tendered quantity if the price quoted falls within

I7E 35YT 73T ... wfcrerd o ofTaT T & o Yed 3T oY 3eTAT Hl
ferfaeT AT & v Ry 7 rqfa e AegAf & Freefy

[Question ID = 99][Question Description = Q99_AFA_NAIR25FEB]

- L1+10% /Te11 + 10%

[Option ID = 393]

2 L1+ 18% /Tl + 15%

[Option ID = 394]
* L1+ 20% / Tel1 + 20%

[Option ID = 395]

« L1+ 28% / TA1 + 25%

[Option ID = 396]

Correct Answer :-

« L1+ 15% /Tl + 15%

[Option ID = 394]

In Indian Railways “Electronic Reverse Auction” through tendering
system is applicable to

MRAT o9 # AT yomelt & AT ¥ "Solaeiiee Nad AT &g
T AT BT §72

[Question ID = 100][Question Description = Q100_AFA_NAIR25FEB]

. Stores contracts only / ael FIT 3e]aeT

[Option ID = 397]

.. Works contracts only / Fael &R 31?13%1

[Option ID = 398]

.. Services & Earnings contracts only / srael §aTV U &S 31c5|:eiET

[Option ID = 399]

+ All of the options / 3ued Tt aeq

[Option ID = 400]



Correct Answer :-

- All of the options / 3uTFd T Aeq

[Option ID = 400]

An employee has 200 days LAP at his credit as on 31-12-2022. His
date of retirement is 30-4-2023. He has availed 10 days LAP from
1-1-2023 to 30-4-2023. What is the LAP balance at the time of his
retirement

Ue FHHART & 918 31-12-2022 T 200 feat Fr veredi(iiad ad= geen)
g 3eTehT FaTfara s T J_IE 30-4-2023 §| 371+ 1-1-2023 & 30-4-2023
ek 10 TeaT T TorwdT 1 #I13T 3STAT §| SeTehl AT & HAT Toludl
Ay fFaaT &

[Question ID = 101][Question Description = Q101_AFA_NAIR25FEB]

. 210 days / 210 f&=1

[Option ID = 401]

> 200 days / 200 &=
[Option ID = 402]

. 205 days / 205 &=
[Option ID = 403]

+ 190 days / 190 &=

[Option ID = 404]

Correct Answer :-

- 200 days / 200 &=

[Option ID = 402]



An employee has 180 days LHAP at his credit as on 31-12-2022. His
date of retirement is 31-3-2023. He has availed 10 days LHAP from
1-1-2023 to 31-3-2023. What is the LHAP balance at the time of his
retirement

31-12-2022 T T HHIANT & TH 180 AT FT Tavawd(3mer g
I BET) §1 STl WaTlorafer T air@ 31-3-2023 §1 37l 1-1-2023
¥ 31-3-2023 T 10 feaAT T TTT=ITUT T o1 ST & | 3Tkl YaTferd i
& HHAYT TTUHQdr A9 Ui FATE

[Question ID = 102][Question Description = Q102_AFA_NAIR25FEB]

. 185 days / 185 &

[Option ID = 405]
> 175 days / 175 &=
[Option ID = 406]

> 170 days / 170 &A1

[Option ID = 407]
+ 180 days / 180 &=t

[Option ID = 408]

- 175 days / 175 fe=T

[Option ID = 406]

The Zone of consideration of the eligible employees in Group B
selection in case of vacancies are more than 4 is

4% e RiFqarga Hr il Ao awa o FA=mar o ...
e fo=am frar ST ghar 87

[Question ID = 103][Question Description = Q103_AFA_NAIR25FEB]

- Two times the number of vacancies / RT&daT T Telel H ST G&AT
[Option ID = 409]

> Three times the number of vacancies / Ri&dal 1 H#&&T & Al T[T

[Option ID = 410]



. four times the number of vacancies / R&daT s &A1 & =R AT

[Option ID = 411]

« five times the number of vacancies / RTeadr ST AEAT T 9T el

[Option ID = 412]

Correct Answer :-

- Three times the number of vacancies / Riaaar fr F&ar ¥ dieT e

[Option ID = 410]

PF withdrawl for the purpose of preparation for superannuation is
permitted with in a period of

BTG T T AR & 362 T U U0 fovshrey & Aty arafer GE3
T STl &

[Question ID = 104][Question Description = Q104_AFA_NAIR25FEB]

. one year before Superannuation / FaTiwg T & Tk a¥ Tgel

[Option ID = 413]

> two years before Superannuation / FaTfeig iy ¥ & I Ugel

[Option ID = 414]
> 6 months before Superannuation / GaTieiqg e & 6 Al Igel

[Option ID = 415]
* 9 months before Superannuation / HaTfag i & 9 AL Uge!

[Option ID = 416]

Correct Answer :-

+ two years before Superannuation / #aTfaa iy & & a¥ 9ger

[Option ID = 414]

105)

Which of the following Reappropriation is with in the powers of GM of
a Zonal Railway

AFafafaa # & Hia @1 qAfai=raeT (J-3H0ed) Th Sdad Yo
& SreH Fr afeaar F oA g

[Question ID = 105][Question Description = Q105_AFA_NAIR25FEB]

. one Demand to another / Teh AT & GELT HIT



[Option ID = 417]

Capital to any other railway Fund / &t & /ey fordl 370 (o9 %e
Cal

[Option ID = 418]

one work to another under same Plan Head and same source of Fund

, /T & A MY AR U & BE & HiT F ded TP HH ¥ g
FTH FI

2

[Option ID = 419]

one Plan Head to another Plan Head / T =T o & E,:HT AIST=AT
ofiY &l

[Option ID = 420]

Correct Answer :-

one work to another under same Plan Head and same source of Fund

. /T & A i 3R T & B F T F dEgd Tk FH F g
FTH FI

[Option ID = 419]

106)

Chairperson of a Parliamentary Committee is appointed from amongst
the members of the committee by

TSI HATT & 37egeT 7 [Fgfaa ST & aeear # § fordes ganr &
ATl 87

[Question ID = 106][Question Description = Q106_AFA_NAIR25FEB]

. President / ITrseqfa

[Option ID = 421]

.. Speaker of Lok Sabha / SerHT 3LTET

[Option ID = 422]
- Parliament / §HG

[Option ID = 423]

s« Prime Minister / WeITsT H3T

[Option ID = 424]

Correct Answer :-

- Speaker of Lok Sabha / SlehaaT 37CT8T

[Option ID = 422]



107)

All the Public Moneys received for and on behalf of Government are
credited to

TTHR & Torw 33 g3 i 30T & urca gafr gt O & g AT
T SArar &2

[Question ID = 107][Question Description = Q107_AFA_NAIR25FEB]

.. Consolidated Fund of India/ kg &1 g=g e

[Option ID = 425]

.. Contingency Fund of India / &R Fr TR TeH®RT [T

[Option ID = 426]
.. Public Account of India / T &T BTaT= &1l

[Option ID = 427]
+ All of these options / 3u0ed T Aeeq

[Option ID = 428]

%0 A company makes a single product for which it incurs a fixed cost of
Rs 30,000/- per annum The Variable cost per unit is Rs 5.00/-. The
Sale price of each unit is Rs 15.00/-. Actual Sales demand is 7000.
Which one of the following is Break even Point for the company

T 9T T Tehol 3cUTE daTar & forass fow 3@ ufay ¥ 30,000/- s93
&1 At amera 3 81 ufa sere aREa=T aerd 5.00/- TOF B | T3S
gehTS &1 [9eh T Hed %. 15.00/- §| aTEATae fershl AT 7000 &1 e=riai@d
H T i GT 9T & [oIT 9o g9 a8 ¢

[Question ID = 108][Question Description = Q108_AFA_NAIR25FEB]

2000 units / 2000 SHTEAT

[Option ID = 429]

.. 3000 units / 3000 FHTSAT

[Option ID = 430]

.. 3500 units / 3500 SHTSAT

[Option ID = 431]

+ 2500 units / 2500 gEAT



[Option ID = 432]

Correct Answer :-

- 3000 units / 3000 SHTSAT

[Option ID = 430]

109)

Consider the following Statements

1) Accounts of the Union Government are prepared by Comptroller
and Auditor General of India

2) Accounts of the Union Government are prepared by Comptroller
General of Accounts

3) Accounts of the Union Government are certified by Comptroller
and Auditor General of India

4) Accounts of the Union Government are certified by Comptroller
General of Accounts

Which one of the above statements are incorrect

Ao Fyar ot e Y

1) &g TR & oI Gl A & T3 T AGTIET G{&Th GaRT oI o
ST 8

2) g AP F oIl i d9e HgT@RhR aRT IR ol T &

3) & TIPR F JWT #RA & 0T U9 HgTor@r TI8Teh ganil JATod

B &

4) Fz TIFR & oGl F=s FAGTO@THR EaRT FATOE 8l &

IRIFT FUAT H TSI T ol 87

[Question ID = 109][Question Description = Q109_AFA_NAIR25FEB]

©1and3/13T3

[Option ID = 433]
> 1and4 /134

[Option ID = 434]
2 2and 3/2 33
[Option ID = 435]

+ 2and 4 /2 3T 4

[Option ID = 436]

correct Answer :-  Deleted




110)
Set the order of occurrence:

TTT & e &1

A) provisional Para / 3/ Ta# 9T
B) Draft Para / g% T

C) ATN/Térua
D) Audit Para / 3{ifge ST

[Question ID = 110][Question Description = Q110_AFA_NAIR25FEB]

. B,D,A,C
[Option ID = 437]
> D,C,B,A
[Option ID = 438]

s AB,C.D
[Option ID = 439]

« B,A,D,C

[Option ID = 440]
Correct Answer :-

- B,A,D,C

[Option ID = 440]





